Combined Graduate Level Examination 2020 Tier-l

I[Exam Date 23/08/2021
Exam Time 12:00 PM - 1:00 PM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning
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TSUI BT 431 A FT HaY 82

Ans X 1.9

< 2. Tuan

X 4.E

Question ID : 81616112312
Status : Answered
Chosen Option : 3

Q.2
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Ans

Question ID : 81616112324
Status : Answered
Chosen Option : 2




& aE gy # R & @ w9 ST

Ans X 1. -]5
X212
3. 11
X414

Question ID : 81616113635
Status : Answered
Chosen Option : 2

Q.4 17 TfRTal BT Sfiera oy 39 Y 31 Af Ugw 9 TR BT ™I Mg 35 T 7 SR Sifew o
Ffeaal @1 3N Mg 44 I 7, df 9F aufe #t 3y farasi 32

Ans X 1.45TY
X 2,419
< 3.48 T4
X 4.36T%

Question ID : 81616112320
Status : Answered
Chosen Option : 3

Q5 iy fawed & A 98 sieR g St Frafafad sar & vufg (2) & R w e
Y,S,N,J,?2
Ans o #1.G
2.H
X 3.E
X 4F

Question ID : 81616112311
Status : Answered
Chosen Option : 1
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Ans 7 1. gRUMTG IRRMT : 913
X 2. foferee @M - Wi
2< 3. 34 THR : IR

X 4. 3G 31l @M : XS

Question ID : 81616112308
Status : Answered

Chosen Option : 3

Q.7 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Bats : Colony : : Lions : ?
Ans X 1.Herd

25 2.Band

< 3. Pride

25 4. Charm

Question ID : 81616113418
Status : Answered

Chosen Option : 3

Q.8 +H IR wEn-gw far T § frd @ 9= el el & ve aur § Sik 399 A 1 sRiTa
21 3 3R HSA-GiH BT 9 DI |

Ans 7 1.4:52

X 2.7:29

2 3.5:100

2 4.6:180

Question ID : 81616113629
Status : Answered
Chosen Option : 1

Q.9 f=dt fafRry HeuTar & "TRAVEL' $1 'SUWBMF & U ¥ feram sirar 81 ot St yrar &
‘FROZEN’ %1 $& for@m siram?
Ans .7 1. SGAPOF

2 2. SGAQPF
X 3. TGBPOF
4. SGBPOG

Question ID : 81616114026
Status : Not Answered
Chosen Option : --




Q.10 fiu 7T faweul ¥ 9 98 @@ g4 o fAufad J@ar 8 uyig (?) & R W i
28,18, 12,8,?
Ans X 1.3
MN2.2
< 3.5
X a4

Question ID : 81616113425
Status : Answered
Chosen Option : 3

Q.11 f3u 7T faweul & 9 98 qui-uwgg g4 o fFafafad Saer § gufug (7) & == W e
ZVG, XRI, VNK, TJM, RFO, ?
Ans X 1.PAR
X 2.QDP
<7 3.PBQ
X 4.QBR

Question ID : 81616112303
Status : Answered
Chosen Option : 3

Q.12 g3 fawen g o A e @ S yer et 7, R yer gudt wen @ uged den
IR T T  ufad e Teft B
350:5::7:13::990:9
Ans  # 1.1950
25 2.1620
X 3.1052

2 4.1258

Question ID : 81616114032
Status : Answered
Chosen Option : 1
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Ans

Question ID : 81616114044
Status : Answered
Chosen Option : 3
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|

1. Sinuous
2. Solemnity
3. Singular
4. Solvable
5. Sorting

Ans 7 1.3,1,2,4,5
X 2.1,3,2,4,5
X 3.1,3,2,54
X 4.3,2,1,5,4

Question ID : 81616113415
Status : Answered
Chosen Option : 1

Q.15 <9 IR goi-a9g T 7T § R & @ e ded # ve gam § ok S0 4 Ue e
2139 3RITT qul-Tg &1 Tu- B}
Ans X 1.LNMH
«7 2. WYBY
X 3.RTGB

X 4. HJaL

Question ID : 81616113416
Status : Answered
Chosen Option : 2




Q.16 37 ey g+ ol TeITd Us ger & St ave @ el & o - fag Ty Je #t =g
TF g A Wl §1

(4, 532, 10)

Ans X 1.(3,269, 8)
X 2.(2,121, 6)
2<3.(9, 396, 4)
<7 4. (4, 140, 6)

Question ID : 81616113631
Status : Not Answered
Chosen Option : --

Q17 Rr aiv Rt # ¥ 77 3mpla g4 S o f@en & weAes (2) F T W omweh

Ans

Question ID : 81616113432
Status : Answered
Chosen Option : 4




Q.18 & 1 ofic & AigaT T U 91T I §| 39 AT U9 W, §EA 17 9 Gord & fAuda vee |
FA-Gr T eEi?

Ans X 1. 3
X2 5
73 2
N |

Question ID : 81616113636
Status : Answered
Chosen Option : 3

Q.19 95 faeeu g1 forad dEmt Te gen 4 S9! avg @ Hafta 8 o - flg 7y de 9t demd
TP O & Wafd g1

(3, 6, 63)

Ans X 1.(8,5,64)
<7 2. (4, 5,89)
X 3.(7,3, 58)
2 4.(5,6,92)

Question ID : 81616114034
Status : Answered
Chosen Option : 2
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Ans
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Question ID : 81616112326
Status : Answered
Chosen Option : 4

Q.21 fy Zdor ¥ & 1 APl F AR W @ e § & & 9 Ay v W gdvr s wmfaa S

Ans

A

3

@

Question ID : 81616112325
Status : Answered
Chosen Option : 4




Q.22 9 9R =reg few Y & ford ¥ 9 fsdt Jeuf & ve U € 8ik 37 | Uw SR 8139
3T eg BT TI- P
Ans X' 1. GG
<7 2. TUC GI&
2 3. TR
X 4.3F

Question ID : 81616113619
Status : Answered
Chosen Option : 2

Q.23 et fafRry FeuTaT ¥, ‘LOAD’ B 27241613’ 3R ‘CLEAN’ &I 2725231614’ & ©U |
Fea foar T 8, Y I UTHT & ‘STRIKE® &Y $ Heds [har Jrem?
Ans X 1.1719102389

7 2.2319171098
X 3.1231719089
X 4.2317190189

Question ID : 81616113623
Status : Answered
Chosen Option : 2

Q.24 Tford frgl &1 95 T WA A o ile w0 & * fugl & RIM IR @A 3 GHiew
<igferd gt Sem
252*14*8* 100 * 16 * 60

Ans XK 1.+ - % + =

.;;);;;?2_+,x’-,+1:
P R
x4_-:-,x,+,=,-

Question ID : 81616113632
Status : Not Answered
Chosen Option : --

Q.25 faQ T FHYT SR FeHl B e | U | FY=I H & TS THBRI B TG T §U, U B
I8 = =0 A 71a aaf @ i vdia 9, Fuifya &% [ o 3 fAeed e 1w sy o1
S U F TR0 HId 2

DY

Tt w=t, Iemar g1

gt urgere, o B

&g WY arftrEar, IeHdar gt '
e

I. 9 W=, uraee B

I, &g Y rftrdar, w=t =8 21
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Ans X 1. %qc By | 3R 111 TR B B
X 2. %ad sy | 3R 1| SR aRd §
2 3. Had fmef 11 3R 111 SRR R &
o7 4. T e SRR R §

Question ID : 81616114030
Status : Answered
Chosen Option : 4

Section : General Awareness




Q1 g A A B-91 TR T5hR Ad & VM S & oI 82
Ans X’ 1. SRTI

2 2. TR

7 3. 3R

X 4. SEHIEG

Question ID : 81616114045
Status : Answered
Chosen Option : 3

Q2 __ ou g arel Hidie gl o tderge i demge e B
Ans X 1. 3MidR® Ble

<7 2. RGN gudt

X 3. TR BIS

X 4. HETRIY gdct

Question ID : 81616113450
Status : Answered
Chosen Option : 3

Q.3 In which of the following sports is the shakehand grip used?
Ans 7 1. Table tennis

£ 2. Badminton

5 3. Cricket
5 4. Squash
Question ID : 81616114066
Status : Answered
Chosen Option : 3
Q4 T8 Withar 8 ORI 1R UTl &1 ITATCHR AT SHT B ATl & TUT 5 TP 37T

FHeR ¥ wufa forar s &, s 3% 3 sigue e o €1
Ans X 1. fAee (Tteeyer)
X 2. frer (fSaewm)
7 3. e (f$fReatam)
< 4. SfadTe (AfsHesm)

Question ID : 81616113444
Status : Answered
Chosen Option : 3

Q.5 3rf=ied Bt B A} WrET dh A 71 37 1w e & uRumrasy urpfas S
USRI P BT SR Uguur | Tafid 82

Ans 7 1. qaiaRofg S
X 2. SRR iR
2 3. grdeie R
X 4, dPIR® IR

Question ID : 81616112330
Status : Answered
Chosen Option : 1




Q.6 Who among the following wrote the novel ‘Gora’?
Ans X 1.Mahatma Gandhi

25 2. Abanindranath Tagore
25 3. Premchand

w# 4. Rabindranath Tagore

Question ID : 81616113455
Status : Answered
Chosen Option : 4

Q.7 < 3ifw g7 fiwmw (E0DB) W Ay de 9 arfifes Rulé g3 s 2020: AR

3 190 SHIFTHI, F IR, HRT 190 S A J WM R B!

Ans X 1.47d
< 2.63d
X 3.78d
K 4. 549

Question ID : 81616112351
Status : Not Answered
Chosen Option : --

Q.8 {5y ST H TFP-T S TSR P Tad FHel did 3 g1 FRUa 82
Ans X 1, %l

o7 2. B
2 3. dffrerrg
2 4. 3y TS

Question ID : 81616112338
Status : Not Answered
Chosen Option : ==

Q.9 HNRmw 1 IRmafe e Fre?
Ans X 1.Mn

w” 2. Mg
25 3. Ms
& 4.Ma

Question ID : 81616114049
Status : Answered
Chosen Option : 2

Q.10 QR e IR GeHg M T A @Sl
Ans X 1. dIfdidlc

o 2. TS

2K 3.4

2K 4. A

Question ID : 81616114057
Status : Not Answered
Chosen Option : --




Ans

Q.11 g ¥ ¥ 5T <31 # UyH giP! T $T TS §3MT UT?

<7 1.9.. (UK)

X 2. YRd

XK 3.

X 4. GG T 3HRBT

Question ID : 81616113459
Status : Answered
Chosen Option : 2

Ans

Q.12 g & A 5 qaea-T-ARET T g R 82

7 1. Fee-39-RRm
X 2. ForargeH st
2 3. SR Gy

X 4. Sra-fae

Question ID : 81616112342
Status : Not Answered
Chosen Option : --

Ans

Q.13 Which of the following is NOT a disease caused by a virus?

5 1. Zika
£< 2. Ebola
/5 3.AIDS
«” 4. Plague

Question ID : 81616112336
Status : Answered
Chosen Option : 4

Ans

IBi® & d6d gk T & 1T ‘sepieht el $71 JUR’ (Transformation of

Q.14 SaE 2018 B, YRd IRBR SR A AT 2022 9% URT Ft 3BT B w4 fawra

Aspirational Districts) 8@ Y%= @1 | {58 & ¥ ®19-91 39 wriwy § e 7e1 8= T8l
?

2< 1. Ruen

2 2. TRy 3R Ti9or
X 3. P SR S G
<7 4. ITNT 3R FaER

Question ID : 81616113644
Status : Answered
Chosen Option : 3

Q.15
Ans

g1 Yo, 3ieTd YRA & 5T YRT T Hafta fi?
o7 1.l
X 2. ufgeh
2 3. W
X 4. FR-gdf

Question ID : 81616114060
Status : Answered
Chosen Option : 1




Q.16 fog afdal & @ frd FFTal 2021 § iR ure TaeR Wiy o1 5@ fe
frgea fear man 22

Ans X 1. IRIEH TR
X 2. 9T o
<7 3. PG il
X 4. e wifa

Question ID : 81616113463
Status : Not Answered
Chosen Option : --

Q.17 T WWHR DI F@RA MR Iy fAur=aH1 & fFreig= a1 fagea 31 Ry s ot
wife fpae ur gidt 82

Ans 7 1, AT
2 2. fayrTaYT sremel
< 3. gErEAt
< 4. QYA

Question ID : 81616113659
Status : Answered
Chosen Option : 1

Q.18 3y sirad wRult & &fa ufwmal ot f5a 7 & S ST 82
Ans X 1. T (clusters)

£5 2. 9Hg (groups)

2< 3. URER (families)

o 4. 3rad (periods)

Question ID : 81616114052
Status : Answered
Chosen Option : 4

Q.19 [ T A P RN & UG BT GHSH (YgA) aTaT ygal fagH 412
Ans X 1.9 TigT A5eS

X 2. SRR

2 3. Sfidlex Hi-EH

<7 4.5 i

Question ID : 81616113642
Status : Not Answered
Chosen Option : --

Q.20 Sa 2021 W UTe ATY 3RV F SINT fram) o1 [yorelt ISt 39 aram vy YR
I A A BT ATE?

Ans X 1. IWRES
X 2. Rifdwn
< 3. AT
X 4. 70T

Question ID : 81616113461
Status : Not Answered
Chosen Option : ==




Q.21 Y MR B HRA B HIHS HATE ¥@T AT 74T 82
Ans X 1.82°32°E

o7 2.82°30E
2 3.82°31'E
K 4.81°30°E

Question ID : 81616113650
Status : Not Answered
Chosen Option : ==

Q.22 oy gfoeaeR! & | e IRmn & IR # foran ik 39 19 &Y gfd 91 5 ag o= Wl
yrgal | i Jard ik uvg 2

Ans 7 1. firgu-RRe
< 2. 39 S
< 3. SR G
X 4. oar-ge-feT st

Question ID : 81616113654
Status : Not Answered
Chosen Option : ==

Q.23 Fas 2021 T forslt it WRH T 350 B G TS G T Al gerHE! 384 aret

g1 BT 79 1 82

Ans X 1. gadl PUCH

7 2. <ien fiféra

2< 3. 9. Sdferdn

2 4. 9T SR TR

Question ID : 81616112347
Status : Not Answered
Chosen Option : --

Q.24 g ¥  SH-91 YT TEI 82

Ans 3 1. Tf T & Hed Rl TR0 3 T & daed G R 8, o §F Ak oY arge ad
FEd gl
o 2. [0 ORI drepfcrer FHa H FHI o arell adwT # &l fagefl & sTd &l =grfaH g3 @l
ERICE eSS G
XK 3. U a9y ufd e S Aread B Ude Ued HUT & alel Bl IB B

X 4. T HIAT P °CH T IR B O S WY G B ¢, N TH T B SR T
Fed gl

Question ID : 81616113647
Status : Answered
Chosen Option : 3

Q.25 g 3fTr=1 SR (The English Teacher)' TH® [RA® & QWD DI 82
Ans X 1. AHA 3T

X 2. fawu I3

< 3. 3R, . AR

X 4.gTad Ris

Question ID : 81616112345
Status : Not Answered
Chosen Option : --




Q1 2 I&Ra gat & INEE JearFR AR F SIB 3080 m? ¥ IR FearFR ART F A Y i B
3R 3raRe RY Fr B & G 7 3aT 10 m &, & Gt Bt 1 e (m #) w7 w1

(m = 24
Ans X 1. 84

72 98

X4 112

Question ID : 81616113681
Status : Answered
Chosen Option : 2

Q2 & o qfeET &7 3T HY AR T H 3eR &

A, B, C, D, E 3T F TEu=T # sora@ides aawAr (VC) & T amifea o= &r

&
¥
2014 |2015 |2016 |2017 |2018
A 110 150 165 180 205
B 120 180 176 200 220
C 140 220 180 175 225
D 125 210 175 180 230
E 150 200 160 200 240
F 165 230 200 220 210

2014 # W D 3R F & VC & forw amifera ordl & got

e, 2018 F FEIE A, B 3t C & amifea ot # g

T 1 e wiaed 8?7 (SAHeE % Ue fig 9% we)
Ans X1.42.8

X2.432

K3 438

4 44.6

Question ID : 81616113993
Status : Answered
Chosen Option : 4




Q.3 &= =afaa A, B 3R C, 3vw A1fler 30 &1 AT 10%, 7% HR 9% o197 U gHe g5 T o g
g1 A R B &7 Aifw e awer § 3T A 3T B % a9 & @ 3T 3900 §) IfE C F gorew H A
3R B g@mr fFar a4 Feor g1 I600 30 &, & C # Af¥w aa7 R H) 7 H

Ans 1. 50,000
X 2. 60,000
X 3. 45 000
X 4. 55 000

Question ID : 81616113670
Status : Answered
Chosen Option : 1

Q4 fraa gfaerd 1% THIR o0 & W, 37,200 TF 9 & 7,938 g v, IR O dE-aNe ¥
e g 22

Ans X 1. 5
210
X3 8
K412

Question ID : 81616113673
Status : Answered
Chosen Option : 4

Q.5 et A 3T B & ot o 3ilad T A 455 kg 3T 44.2 kg B, Sode Qe H 40 ©F 2
[T A F 48.75 kg HUT IS 1T & OTH W AFAA B H TUATEART RAT Sem § 3R FRET B F
2 BTE @ AFAT A H TUAERG FaT Sar g, Swd gt a9t @ siiua a9 auer & Se) deer B
¥ T A F TUAERT T e o @ g 99 (kg #) Ta

Ans X 1. 35
< 2. 34 50
<3 3425
4. 3575

Question ID : 81616112355
Status : Not Answered
Chosen Option : --

Q.6 =¥ FR, 144 km Fr gl 1.8 92 F T7 W Thelr &1 20% 3F AT F T AN g Freaw wET F
(5 #) a7 FEm?

Ans X 1. 3.2
X225
73 3
X402

Question ID : 81616114079
Status : Answered
Chosen Option : 2




Q7

ec? 8+ 2g .
afy 0°< g < 90°%, ar Jsec " T A A i
tan® &—sin* &
Ans X1 sec? @
K2 gec? g
<3 sin?g@

W 4. cosec® @

Question ID : 81616113888
Status : Answered
Chosen Option : 4

%% (cosecA - cotA) (1+ cosA), & T ¥ §TeT 2l
Ans X1. cosA

# 2. cosechA

< 3. cotA

4 sinA

Question ID : 81616112272
Status : Answered
Chosen Option : 4

Q.9 gy ¥ 357300 F fber 3l iR A TG 36 fhT @1 16% @y 3R AT #efer @ 24% @t
W &4, AR QA F FHS FET R F= IR AT FFT Ted (2 H) AT R

Ans 1. 34500
X2 24500
X'3. 28650
X 4. 22800

Question ID : 81616113469
Status : Not Answered
Chosen Option : --

Q10 el a5 @1 HT qoT 2250 ¥1 P gFCR, IEG & b Hed W 36% TT W W qTAT 20% e
oo HA §| TG TR qew (2 F) A F

Ans 1. 468.75
X 2. 475
X 3. 450
< 4. 380.50

Question ID : 81616114073
Status : Answered
Chosen Option : 1




Q11 A4BC #, BC W Rig D 5@ 9K § & LBAD=§/_ADcsﬁILBAc =77° 3k 2C =45 %)
£ADB &Y HI9 AT HYl

Ans X 1, 770

V2. 64°

X3 450

K 4. 5ao

Question ID : 81616113480
Status : Not Answered
Chosen Option : --

Q.12

TG x+2=2v5 ;ﬁ% AT AT
Ans x4, 23
2. 17
<314
x4 20

Question ID : 81616114082
Status : Answered
Chosen Option : 2

Q13 fip ABC #, D 3t E %A AB 3t BC % meafig &1 afy (ACED) &7 &iswar = 8 em?R, &
(ADEC) T &lswel (cm? &) 71 &3l

Ans X 1. 91
2. 24
X3 32
K416

Question ID : 81616112370
Status : Not Answered
Chosen Option : ==

Q.14 ¢ T fHg P & gea R @i S &, S Rig T X ged & 59 9ohR Borh § & PT = 8 cm &1
BF XGT PAB, gea # Rig A 3k B WX sfo=dfea wwalr €1 afe PA = 5 cm ¥, & Sfer AB #Y T
(cm &) 1T FT

Ans xK 1. 80
K284
3. 7.8

<464

Question ID : 81616112367
Status : Not Answered
Chosen Option : --




Q15 FRr(x+6)°+ (2x+3)° + (3x+5)% = 3+ 18) (2 + 3)(3x + 5) §, &Y x T AT 71 HLI
Ans

<.

By |~

vz I

4]

X 3.

I
[

X
e
Wy [

Question ID : 81616113475
Status : Not Answered
Chosen Option : ==

Q.16 frm o$ o el Te@mem & A, B, C, D, E 3% F, og @ea-fes aoif & e XIl & 800 Tzt
& gfae a) RAaRor & BRRe & g

& 7€ e A, B, C, D, E 3K F oF Fe-fea aeit & wam Xl $Fr wsfeadt fr gwar gaid 7

T A B C D E F
wsfRar fr | 102 80 104 o8 0 60
FEar

e WA T A, B 3T D A Aset F1 For e H el H, T @ @ B, C X D F wsfaar @
TE Fo forae gfera 31 82

Ans 1. 76.25%
< 2. 80%
X' 3. 509%
< 4. B65.75%

Question ID : 81616113184
Status : Not Answered
Chosen Option : --

Q.17 Ilﬁ"x‘l'—l—xzyz-l—y‘L:Zl3'ﬁ7(x2+x}’+y2:3%: ar (—xy) FT AT AT B
Ans ?(1-]

X2 1
3. 2
X4 2

Question ID : 81616113679
Status : Not Answered
Chosen Option : --




Q18 & 1€ v 1 seuTe w3 99T F e} &

Ans

A, B, C, D, E 3R F drual & sure@nides IeuswaAt (VC) & T arHifhd omr &

T
AN
; 2014 |2015 |2016 [2017 |2018

A 110 150 165 180 205
B 120 180 176 200 220
c 140 220 180 175 225
D 125 210 175 180 230
E 150 200 160 200 240
F 165 230 200 220 210

2015, 2017 3iX 2018 # Heaa F & VC & I AT
orEr i stmg gear sk 2014 F T oF gwuEr # S

oEr fr sitaa g'wr F §i= 3G A9 F:L
K189
<2 88
X3 82
4. 85

Question ID : 81616113991
Status : Not Answered
Chosen Option : --

Ans

< 1.

o 2.

< 3.

P

Q.19 423+[‘27G+§>¢35+ (17—%)—(8%—%)] T AT AT FI

Question ID : 81616113465
Status : Not Answered
Chosen Option : ==




Q.20 24, 40, 33 3K 57 H ¥ TAF ¥ x T W, Wod FEAW FARGAS # & (5x+12) 3R (4x+15) &
I AT B

Ans X'1.4 -3
K274
K375
414 013

Question ID : 81616114076
Status : Not Answered
Chosen Option : --

Q.21 v ffad w8 @ 9 e F R, A 3R B Fr geeent & e 706 ¥ 3w wn w173
& & @ X e € 3 B, 3UN F F 50% T & R o F O Em?

Ans x4, 30
K242
<315
v 4. 21

Question ID : 81616113674
Status : Not Answered
Chosen Option : --

Q.22 ol o7 7 TRAM, 7 om R o7 Fed N F W {1 Iea F AT6A F, T F 6T &
AT FAIT H

( = 2 mrsama)

Ans X 1.7 11
<2121 : 44
v 141 11
X472

Question ID : 81616112363
Status : Not Answered
Chosen Option : ==

Q.23 fy o 3@ 9l AT 523x4y, 7, 11 A 13 T RAA=T &, & (x + v — 2) T AT A FL
Ans X1, 5
X2 3
X3 6
F4 A

Question ID : 81616113666
Status : Not Answered
Chosen Option : --




Ans

Q24 Ry srar o1$ =IE A F Brel TRER & W w1 Re-aR R gufer @1 9Rar i g s
¥1,44,000 ¥

u fsRmn
a g
o e
o gEd
o PTI

Rer | =w (F)Fa w1

& 1. 24,000
X 2. 38,000
X 3. 20,000
X 4.12,000

Question ID : 81616113182
Status : Not Answered
Chosen Option : --

Q.25

Ans

uﬁr%:s%,eayaﬁw%, ar

24 sin? 8 —15 sec? @
6 cosec2 6 — 7 cot® @

T HT AT FL

tan? 8 —sin
X112
X214
X3 =2
4 —14

Question ID : 81616113684
Status : Not Answered
Chosen Option : ==

Section : English Comprehension

Q.1 Select the most appropriate option to fill in the blank.
Canyou ____ between these two shades of green?
Ans X 1. divert
25 2. distract
«# 3. distinguish
5 4. detect

Question ID : 81616113715
Status : Not Answered
Chosen Option : --




Q.2 Select the most appropriate synonym of the given word.

Bang
Ans X 1.Ride

w” 2. Beat

5 3. Rang
5 4. Sang

Question ID : 81616112392
Status : Not Answered
Chosen Option : --

Q.3 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

Mr. Rao asked the newcomer / to his office / if he will minded / working late that day.
Ans X 1. to his office

w# 2. if he will minded
5 3. working late that day

#< 4. Mr. Rao asked the newcomer

Question ID : 81616114095
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate option to fill in the blank.

If you to newsgroups, you often get hundreds of messages.
Ans X 1. offend

5 2. practice
w# 3. subscribe
25 4. describe

Question ID : 81616112403
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate synonym of the given word.

Ponder

Ans 7 1. Meditate
25 2. Agitate
5 3. Terminate
5 4. Celebrate

Question ID : 81616112393
Status : Not Answered
Chosen Option : --




Q.6 Select the option that expresses the given sentence in indirect speech.

Ans

“Alas, | have broken my brother’s watch!” said he.
£5 1. He exclaimed with sorrow | have broken my brother’s watch.

#5 2. He exclaimed with sorrow that he has broken his brother’s watch.
£ 3. He exclaimed with sorrow that he may have broken his brother’s watch.

«# 4. He exclaimed with sorrow that he had broken his brother’s watch.

Question ID : 81616112381
Status : Not Answered
Chosen Option : --

Q.7 The following sentence has been divided into parts. One of them contains an error.

Select the part that contains the error from the given options.

The concept became / too much clear to me / after my tutor / showed me the diagram.

Ans  :# 1.too much clear to me
£< 2. after my tutor
% 3. The concept became
5 4. showed me the diagram
Question ID : 81616113692
Status : Not Answered
Chosen Option : ==
Q.8 Select the most appropriate ANTONYM of the given word.
Expunge
Ans X 1. Wipe
5 2. Draw
5 3. Omit
w 4. Add
Question ID : 81616114112
Status : Not Answered
Chosen Option : --
Q.9 Select the option that expresses the given sentence in passive voice.
The spider on the wall frightened Jiya.
Ans 7 1. Jiya was frightened by the spider on the wall.

#5 2. The spider on the wall was frightened by Jiya.
£5 3. Jiya has been frightened by the spider on the wall.
£% 4. Jiya had been frightened of the spider on the wall.

Question ID : 81616113693
Status : Not Answered
Chosen Option : --




Q.10 Select the INCORRECTLY spelt word.
Ans X 1.Infection

2% 2. Barricade
«# 3. Preshious
#< 4. Innovation

Question ID : 81616113512
Status : Not Answered
Chosen Option : --

Q.11 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. Though they had never ever heard Subha utter their names, they unfailingly
recoghized her footsteps as she came into their shed.

B. They even understood the precious moments between them as she loved and
cuddled them, scolded them, and pleaded to them.

C. Subha did really have a close circle of friends and companions; they were Sarbasi
and Panguli, the two cows living in their cow-shed.

D. They understood the silent, melancholy tune of her unspoken words during those
moments, and the intensity of her expressions more easily than the spoken language
of other humans.

Ans X 1.CBDA
2 2. DABC
2 3. ADBC
«7 4. CADB

Question ID : 81616114108
Status : Not Answered
Chosen Option : --

Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. A fox, hearing the cock and thinking to make a meal of him, came and stood under
the tree.

B. As the night passed away and the day dawned, the cock, according to his custom,
set up a shrill crowing.

C. A dog and a cock having struck up an acquaintance went out on their travels
together.

D. Nightfall found them in a forest, so the cock, flying up on a tree, perched among the
branches, while the dog dozed below at the foot.

Ans 7 1.CDBA
2 2. BCDA
2 3.DCAB
2 4.CABD

Question ID : 81616113501
Status : Not Answered
Chosen Option : ==

Q.13 Select the most appropriate meaning of the following idiom.

To be light years away

Ans 7 1. To be too distant for human beings to reach
£5 2. An extremely long time from now in the past or future
5 3. When something seems like it is about to happen in the near future

25 4. An unlikely event that happened suddenly

Question ID : 81616114114
Status : Not Answered
Chosen Option : ==




Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

The warden punished the students who violates the rules of the hostel.
Ans X 1.who is violating
25 2. No substitution
25 3. who are violate

« 4. who violated

Question ID : 81616113695
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

The minister, along with his team members, is expected to arrive shortly.
Ans X 1. are expected to arrive
#% 2. are being expected to arrive
«# 3. No substitution

/5 4. are expect to arrive

Question ID : 81616112383
Status : Not Answered
Chosen Option : --

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

A secret or disguised way of writing
Ans X 1.Emblem

25 2. Symbol
5 3. Puzzle

« 4. Cypher

Question ID : 81616113712
Status : Not Answered
Chosen Option : --

Q.17 Select the INCORRECTLY spelt word.
Ans  # 1. Vacine

#< 2. Detective
£% 3. Evidence
£5 4. Priority

Question ID : 81616113511
Status : Not Answered
Chosen Option : --




Q.18 Select the most appropriate ANTONYM of the given word.

Obese
Ans X 1. Stout

£ 2. Large
7 3. Slim
£ 4. Greasy

Question ID : 81616113505
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate meaning of the following idiom.

A fish out of water
Ans X 1. Feel comfortable in any kind of place

5 2. Feel as if you are unable to breathe
«#* 3. Feel uncomfortable in unfamiliar surroundings

25 4. Feel like going to an unfamiliar and new place

Question ID : 81616114113
Status : Not Answered
Chosen Option : ==

Q.20 Select the option that can be used as a one-word substitute for the given group of
words.

A person who entertains people by doing difficult feats
Ans X 1. Cosmonaut

&5 2. Performer comedian
w# 3. Acrobat
5 4. Astronaut

Question ID : 81616113711
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Essaouira's origins stretch back to prehistoric times, and this spot on Morocco's Atlantic coast
(1) a centre of culture and commerce ever since. (2) centuries, the harbour
town was an important trading post (3) both a seaport and as the north-western
terminus of a caravan (4) stretching across the desert to Timbuktu (5) Africa’s
interior.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.been

w# 2. has been
&5 3.had be
25 4. have been

Question ID : 81616113496
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Essaouira's origins stretch back to prehistoric times, and this spot on Morocco's Atlantic coast
(1) a centre of culture and commerce ever since. (2) centuries, the harbour
town was an important trading post (3) both a seaport and as the north-western
terminus of a caravan (4) stretching across the desert to Timbuktu (5) Africa’s
interior.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1. At

2 2.0n
« 3. For

£5 4. Above

Question ID : 81616113497
Status : Not Answered
Chosen Option : ==

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Essaouira's origins stretch back to prehistoric times, and this spot on Morocco's Atlantic coast
(1 a centre of culture and commerce ever since. (2) centuries, the harbour
town was an important trading post (3) both a seaport and as the north-western
terminus of a caravan (4) stretching across the desert to Timbuktu (5) Africa’s
interior.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans o 1.as

2. by

3. at
£5 4. from

Question ID : 81616113498
Status : Not Answered
Chosen Option : ==

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Essaouira's origins stretch back to prehistoric times, and this spot on Morocco's Atlantic coast
(1) a centre of culture and commerce ever since. (2) centuries, the harbour
town was an important trading post (3) both a seaport and as the north-western
terminus of a caravan (4) stretching across the desert to Timbuktu (5) Africa’s
interior.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.way

2% 2. direction
«# 3. route

#5 4. highway

Question ID : 81616113499
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Essaouira's origins stretch back to prehistoric times, and this spot on Morocco's Atlantic coast
(1) a centre of culture and commerce ever since. (2) centuries, the harbour
town was an important trading post (3) both a seaport and as the north-western
terminus of a caravan (4) stretching across the desert to Timbuktu (5) Africa’s
interior.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans o 1.in
25 2.0n
% 3. above

25 4. over

Question ID : 81616113500
Status : Not Answered
Chosen Option : ==




